Tell whether each of the following assertions is T or F.
1. If the distribution of income in the milk industry is fixed, a 50% decline in the price of milk leads to declines of 50% both in nominal wages and in nominal profits. As result, the demand for milk in real terms will remain constant

3. Business investment is essentially determined by just three key variables: the interest rate, the amount of profits and firms’ expectations about changes in the demand for their products

4. Unless there is an exogenous change in the demand for credit, the Central Bank can only increase the money stock if it cuts interest rates.
5. The ability of banks to expand credit to the economy depends not only on the level of credit demanded at the prevailing interest rate, but also on the amount of reserves the banks initially have.
6. If firms did not have fixed costs, their total costs would move in proportion with their total output. Hence, aggregate profits would not be markedly more volatile than GDP over the business cycle
7. Firms want to operate at the level that minimizes their unit total costs – which, because of fixed costs, occurs at full-capacity.
8. Consider the case of the Portuguese economy in 2006, when it faced an exogenous fixed interest rate set by the ECB at 4.5%. Under those circumstances, a general decrease in consumption in Portugal would not have had a negative effect on output and, moreover, would have had a positive effect on investment

9. Consider two closed economies – A and B – with Central Bank interest rates initially at 0%. Economy A is at full employment (defined as an unemployment rate of 4%), whereas economy B has an unemployment rate of 8%. In both economies, an increase in saving will depress investment 

In the two following questions, consider that: (i) the economy is initially at a Keynesian equilibrium; (ii) the average and marginal propensities to consume out of wages are equal to 1; (ii) the marginal propensity to spend out of profits (in consumption and investment goods) is zero; (iii) the distribution of income between wages and profits is fixed: 50%, 50%; (iv) there are two sectors – sector A which produces investment goods and consumption goods for the capitalists, and sector B which produces consumption goods for the workers.

10. If the capitalists of sector B jointly increase their spending by 20€, the joint profits of the capitalists of sector A will end up increasing by 10€
11. Suppose that the government prints 20 euros and gives them away to the workers who spend them in consumption. Since capitalists earn what they spend (but not what workers spend), the joint profits of all capitalists will not rise by 20 euros.

12. The logic of Irving Fischer’s recessive spiral (↑fear of default -> ↓credit -> ↑fear of default -> …) remains valid if real output falls and the level of prices remains constant

13. The declines in prices during the Great Depression led to transfers of wealth and to transfers of income. The wealth transfer had a negative effect on demand, but the income transfer had a positive effect.
14. The expectation of falling prices reduces the incentives of firms to invest with bank credit but not with internal funds.
18. In the real world, changes in output over the cycle lead to roughly proportional changes in the amount of profits.

20. Start from a balanced budget. Suppose that the multiplier is 1.5 and that, for each 1€ change in GDP, tax revenues change by 0.4€ and the total of unemployment benefits changes by 0.1€. In a static Keynesian model, ceteris paribus an increase in government spending by 1€ leads to an increase in the debt-to-GDP ratio in the short-run if the initial ratio is lower than 30%

21. If the distribution of income in the economy is fixed, a 50% decline in the level of prices leads to declines of 50% both in nominal wages and in nominal profits. As result, the demand for goods and services in real terms will remain constant.

22. Assume that change in utilization is the absolute value of the difference between the change in output and the change in production capacity; i.e. ∆ utilization = |∆ output – ∆ production capacity|. 

In the context of the neo-Kaleckian dynamic model, assume that replacement level of investment is fixed at $500, the multiplier is 2 and the productivity of capital is 1/5 (values per quarter). If gross investment rises from $540 to $600, then utilization will rise by $108.
23. In the neo-Kaleckian dynamic model, an increase in the unit profit margins leads to a decline in utilization in the following period.

24. Consider Minsky. The rising investment during expansions leads to increases in the ROE of firms and to even larger increases in their ROA. 

25. Suppose that CB interest rates are equal to zero. Everything else constant, if the population growth of a country stops, the size of the budget deficit needed to maintain full-employment becomes smaller.

